Bl. AuToTEC QUICK-CHANGE"

Option A

QC-1 2

QC-1= AL A FA|, AU 7| A1e] 29,2 5AZF L AEFE ‘
olF5 st &= o] 43k 2 E(light load robot) 2l =
o] # e (end-effector) 2] A5 w 2H4=] Ut}

Banding band o

w
]

(Flat option : A side)

Position for (Flat option : A side )
lock/unlock ports S

LT wseos. ome || L] ml

Unlock port 1 o
- M3x0. 5, Dbp. 4 i
Lock port jvfgroo‘le

J1o8uey)

100, dSrjewoiny

™ N _(: Hold-groove
o . Master plate i @ — M arsenment oo
FANUCA}Q] 7l 51 %= 2 -(Genkotsu Robot)” ol AF-8-8F 5= ¢l = QC1 (QC~1-M-DA1-XA2-VB1-XB2 ; ~ - N S FTETITITTYEN
FANUCALS] 7l 72 2 JE 1M-1iA Q1B Hl o] 2~ & 4] = PCD20°] 2. & Option B b o t@ ,
QC-12 Af T 7] & o] e Ao Aol A8 5 9L Tk Option B 41 }/ -
A FetA %1 ol &8 W2 (Lock without touching) Option A - ) 7} iewreo. 5 Do s ¢
o L hv B (4 equidistant)
A~ E] Z 1 °] E (Master Plate) = & =2 ©] E(Tool T > ‘ ‘ R
Plate) 5} ¢] Abo] el zk2]0] Slof = (24 4 3k e - inEi NI 1] juEj
SrolE) A glo] 715yt t’ " 28 St 0.5 5 S e ation ¢ B e )
~ = 2zM3x0. 5 Dp. §
(Flat option : B side) \ 2x¢3H7 Dp. 6 14 10 Pneumatic port

Tool Plate
15 ( 10 ) 14 @QC—-1-T-DA1-xA2-PB1-xB2)

g3t 71 A 2 A e b g A (2 e A) -
v 7] Y = (fail-safe locking mechanism)
BLARS] 5183 A/ Ml AY T & oflof ¥ & ) . Tool plate

FTHEOl L ntAE SOl Eg EEHO|ETL (QC—1—T—DA1—XA2—VB1—E(BZ) __

] E A k= 71 A2 PR (G A 7] 5 S

7H 2 s U, /\,;_3 |
Master plate Attachments (The above drawing is shown QC-1-DAT-xA2-PB1-x82)

Master Plate 3.6
(@QC-1-M-DA1-xA7-PB1-xB2)

(when coupled) 729

| @®The four bolts extend 3. 3mm above the Master plate.

*4 bolts (M3x15) % (Remarks) ®Four bolts (M3x15) and one locating pin (MSY3-8) ;
% o JI *1 locating pin (MSY3-8) V-groove are supplied with the Master plate. q
4 !

1001
A o~
\ [ ] \ Hold-groave O v
e TR I 5 o
¢ 30 - !
430 —— =
Detailed drawing A
7F3E (8 A -sh 9.8N (1kg) D A7) A5 AAAA 3Ax 109 (3 T4 300kg
A2 AE A= +0,015mm P “J 3} (Positive) = M3x2 i
= 215 = rect . . ¥ (Negative) LE M3x2 il
%259 7wl E | Bending direction (Tx, Ty) | 4N*m (40.8kgf-cm) v A& (Negative B A7 AAEE (C B S
— : A7) s £ (Contact block) HMI|AS M
Twisting direction (Tz) | 16.6N-m (169.4kgf*cm) Installation position on options HHE = M7|4S MHEE (Contact block) S
A= (715 0.49MPa]) 185N "
e EE D) d2o)y LT (™ &. ;
=) 51 7] 18 T Option Option 1Option |Option
S ZH e 27 B2, | 'BI, | ) e O | AL | A2,
e P Ato] = (A A Al) ©32xH29mm . ) L .
A FEZ 2 (A ) | Master plate 60g 5 I .| #:I
Tool plate 30g o ¥ i '
2R M AYZ Ball-locking mechanism N N5 P S S— D 3Ax10% YR (solder terminal)
A Ag 3% 0.39~0.68MPa_(4~T7kgf/cm?) T Lock/unlock port side T
- T =5 :
e eT. T 0~50C. 35~90% (2 7. 3] <) | 3Ax10 B (solder terminal) .
= Z7|YTE HHE2 (Contact block) :
W 3713FEE 5428 (Contact block) SUETTEEE el
HAZ(positive pressure) M3x2
ZIZ3E(negative pressure) M3x2
(Option) P V o=
Master plate Qc-l -M- I:] Al - I:] A2 - I:] B1 - D B2 I@%L%(positive pressure) M3x2 I 1 & & (Negative pressure) M3x2 =
(Option) AMIE ZE FH0 e M= G0 22E 510 FHAL
(=] [l g =i} = o === Te .
TEE QC-1 -T- [ Jar- [ JaAa2- []B1=- []B2
* TG FERE Qste] 7] gHEo] £ A ¢i= ¢ Quick Changes] Aol 45Ut
X =4 e P4 y
D A7 AE 3Ax 10 (HE TR g 2
P % Sh(Positive) EE 2 -
v %1% (Negative) LE

(F) QC-10l 47H4] F4d-& A2 A1 & 4= sy vh (A28} B2 H/d 2 A1} BT A& ARG 8 2 9-oll ik ARG & = Sl Th.

1 22 YA E s FUCES FY6ts YU 225 57| /8t A 005 SEL SE2 5N 7|720] £YHA| = 2t Quick Change?| Z&0| RAIFHULL x2 3 ZE S5 P 27§ F7H 232 BL Autotec



